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1D pull distribution
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1D pull distribution
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Std Dev

4.196/6

10.92 +1.86
0.2213 + 0.1960
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1D pull distribution
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1D pull distribution
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Overflow
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1D pull distribution

Mean —0.004456 + 0.05526
Std Dev 0.4316 + 0.03908
Underflow 0
Overflow 0
X2 I ndf 3.056/3
Constant 37.84 +6.24
Mean -0.05534 +0.04338
Sigma 0.3261+0.0319
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1D pull distribution

0.0009587 + 0.08504

Mean

+0.06013

0.6642

Std Dev

Underflow

Overflow

6.515/6

32.75 £5.72
-0.0637 +0.0582
0.354 £ 0.039

X2 / ndf
Constant
Mean
Sigma

26.91/60 K

231

X2 / ndf

.323

+3

1
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(ppb)
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